EARAROBREBRT —5 XN—ZXBISH—F

2022658128 (R 40EH4E

N C3— USR4mtE (m w | mewE - | v w0
[AE%) 1 &:500,000  ~ 237#&:200,000  337%&:125,000H  43#%&:75,000H 53 :50,000 ™
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
S 7 | THRE 1:33.4 4432 |40.2| - 1 | 468 | ML (TEHH)
11111 | XWAX=7 56.0 =) ) |LAHE
RAREFYU BHYISVIOYEY B 3z
— ® o — (LA : -2-2- - TR*z (EM)
28l 9| =y koN—T5 8 | L (17.393% 3-2-2-1 | 40.6 5 (4_423) e
RAREFYU BTy hIFcFYR EEL e
<~ g~ s JIERE— : -7-8- - HHEIE (BH
36| vF 20Ny Gy | e | @e) 0| e |EEER @9
R:9=—/FLLwh B:o0x30 Br RE
P =—=_ 4 | Bk 1:33.6 6-6-6-5 | 40.1| — 6 | 488 |EHMEE (FR)
4 4| ¥T==27V—0 i a530 15) #3) | TESRIR—ILT VTR ()
RiJ4 I DI—=ILEY B:STYvU— REFHUS
° o6 | NBEF 1:33.6 5-5-7-5 | 40.1| — 9 433 | EMEZ (EH)
5|5/5|/Y7/—0Y 5.0 &P o | @ Fo
RIR—ANR B:YFARKKIS S
° — = Rl : -10-5- - fEE¥R (EM)
617l /50257 1451 # 7 | ER (12314/2(; 10-10-5-5 | 40.1 4 (5+110) 5;%7_
R:O—RAHFr0O7 B:FAHTYUAIR HBEIT7—L4A
) —g= 4 4 | HPF 1:34.2 9-9-9-9 |40.2| - 2 531 | MTF=F (BEH)
ZH 3| O09RVZI= 56.0 (1 1/4) (-3) |EA®
RiTUF—Y BT HR— NVERT7—LA
p =~ 6 | LIEHEX 1:34.3 2-3-4-4 |41.1| - 10 | 443 |XIBESZ (HH)
8l7|7 | ABA/TZVF & 54.0° @e) *2) Tiile
R:F4—=TFITUSYF B:y3avFrryoiex Eliaie ]
S~ = KFHEE : -8-10- - WOss ()
9 S| TavvaFso "4 | K (12314/27) 8-8-10-10 | 40.8 8 (4+615) WO
RXAVIAVYLYY B I—YVN\—/\— SIS
—3 _ ~, 5 5 | Af—H 1:36.8 1-1-1-3 | 44.1| - 7 | 512 |WLOEE (7
108/10| =¥/ U=FFT 5.0 (54%) (15 | BEES
RU—FHISHY B:=Y/FHA TS
@ 11— —BERIEI
1==zr— 10,7,9,1,5,4,6,2,3,8
20— — 10,9,7,1,5,4,6,2,3,8
30—7+— 10,9,1,7,8,4,5,6,3,2
4A0—F— 9,1,10,7, (4,5,8),6,3,2
o ILRE
BB 1 1908 | | 914K 1-9 6004 & 1-8 1,400 3ER 1-6-9 2,110
B B 1 1109 1-6 230M o 18 1-9 1,890 3Es 1-9-6 11,9809
9 270 6-9 970M oS- 1 1-9 3,100
6 1409

ABIC OV TRUTEREERRODDZE. THRIIZEL.




